TENDER CALL NOTICE



GOVERNMENT OF ODISHA

DETAILED TENDER CALL NOTICE FOR THE WORK:

CONSTRUCTION OF LABOUR ROOM AT P.H.C., PANASPADAR UNDER DIGI GRAM PANCHAYAT.

Approximate Estimated Cost Put To Tender: Rs.31,00,000/-Last date of receipt: 02.01.2021 (during office hours)

PANCHAYAT SAMITI OFFICE : TENTULIKHUNTI

OFFICE OF THE PANCHAYAT SAMITI: TENTULIKHUNTI

District : Nabarangpur

No. 2449 /2020

Dated 17 .12.2020

TENDER CALL NOTICE NO.02/2020-21

The Block Development Officer, Tentulikhunti invites Sealed Tenders in conformity with detailed tender call notice to be drawn up in the P.W.D.-2 contract from eligible registered contractors of State P.W. D. / Irrigation / R.W. / R.W.S.S. and P.H.E.D. having valid license from the competent authority for civil works. The proof of registration from appropriate authority shall be enclosed along with the bid. If successful, the bidder who has not registered under State Government of Odisha has to register under the State PWD in appropriate class of eligibility before signing of the agreement.

The bidders may submit bids for the following works:

SI. No.	Name of the work	Amount put to tender (in Rs.)	er (in deposited documer		Class of Contractor	Time of completion
01	02	03	04	05	06	07
1	Construction of Labour room at PHC, Panaspadar under Digi Gram Panchayat of Tentulikhunti Block.	24,43,250/-	31000/-	6000/-	C &B	08 (Eight Calendar months)

Date of Tender Paper available on payment of Rs.6000/- GST.	18.12.2020 to 02.01.2021 which can be downloaded from Nabarangpur district website (the district website www. nabarangpur.nic.in), the cost of the same should be accompanied with the Tender Papers in shape of BD/BC purchased in favour of the Block Development Officer, Tentulikhunti.
Last date of receipt of Tender Paper in the office of the Block Development Officer, Tentulikhunti	02.01.2021 (during Office hours through Registered / Speed post) only addressed to Block Development Officer, Tentulikhunti, At./P.OTentulikhunti, District-Nabarangpur, PIN- 764070 (Superscripting the name of the Tender on the top of the envelop/cover)
Date of opening of Tender Papers	04.01.2021 at 3.00 P.M. by the Tender Committee of Tentulikhunti Block. The Tenderers or their authorised representative can attend the opening of tenders.

Terms and Conditions:-

Bid documents consisting of the scheduled of quantities & the set of terms conditions of contract & other necessary documents can be downloaded from the Official website (www.nabarangpur.nic.in).

The cost of tender document specified in column-5, shall be deposited at the time of receipt of the tender paper in shape of Bank Draft / Banker's Cheque only in favour of the Block Development Officer, Tentulikhunti payable at SBI, Khatiguda.

- 01. Tender must accompany with 1% EMD as mentioned in column-04, in shape of NSC / KVP / STDR / TDR from any nationalized bank duly pledged in favour of the Block Development Officer, Tentulikhunti along with attested copies of valid and up to date GSTIN, CC / Pan / TIN Certificate, experience certificate (if any) of contractors from competent authority without which the Tender will be liable for rejection and on production of original contractor license, GSTIN, CC / Pan / TIN Certificate, expenditure certificate against a non refundable fee towards the cost of the tender document as mentioned at Colum-05 above in shape of Bank demand draft drawn from any nationalized bank in favour of the Block Development Officer, Tentulikhunti payable at SBI, Khatiguda.
- 02. Tenderers are required to quote their percentage rate both in words and figures carefully, without any corrections or overwriting. The Tenderers are required to put their signature on every overwriting or any correction made in the tender rate. The tender filled in figure only but without mentioning in words shall be liable for rejection for which no tender paper cost shall be returned to the tenderers.
- The Tender schedule along with bid of quantities duly filled in and all relevant papers in sealed cover will be received through registered post / speed post only by the undersigned upto 5.00 PM on or before 02.01.2021 (during office hours). The tender papers received beyond the stipulated date shall not be entertained for opening and liable for rejection. Telegraphic Tender or in other mode will not be accepted. The undersigned will not be held responsible for the postal delay, if any, for the delivery of the documents or non-receipt of the same in time. However no tender will be received by FAX or by E-mail.

- 04. The tender papers received upto the stipulated date and time will be opened by the Tender Committee of the Block Office, Tentulikhunti at 3.00 PM on 04.01.2021. The Tenderers or their authorized representative may attend the meeting of the Tender Committee at the time of opening of Tender Papers.
- O5 Scheduled Caste and Scheduled tribe & Physically handicapped tenderers will deposit 50% of EMD amount i.e. Rs.15,500/- and they have to produce Caste Certificate, Physically handicapped certificate, as the case may be, along with tender papers.
- 06. In case of Engineering contractors seeking exemption of EMD, are required to produce an affidavit regarding his / her list of works for which he / she has claimed such exemption and being avoided such works, during the current financial year 2020-21.
- O7 The conditional Tenders will not be accepted on any circumstance by the authority. When tenderers will quote the rate is less than the Estimated cost put to tender shall have to furnish the exact amount of differential cost (i.e. Estimated cost put to tender minus the quoted amount) as Additional Performancé Security in shape of Demand Draft only in favour of Block Development Officer, Tentulikhunti payable at SBI, Khatiguda. Deposit in any other shape except Demand Draft will not be entertained.

If any of the tenderer is quoting his/ her rate more than 7.50% less, then he/she has to produce the detail rate of analysis in respect of the items of work along with the tender paper or else the tender is liable for rejection.

- Shortfall of any required documents, drafts on EMD, Tender Papers etc. of the Tender paper is liable for rejection.
- 09. No Excess tender is invited to the amount put to tender. If the rate quoted by the bidder is less than 15% or more, than such bid shall be rejected and the tender shall be finalized basing on merit of rest bidders.
- 10 All other conditions of State Government of Odisha (State P.W. D. / Irrigation / R.W. / R.W.S.S. and P.H.E.D etc.) under the Tender Process will be followed by both the Tenderers and the authorities.

- 11. The successful tenderer shall have to execute agreement with the Block Development Officer, Tentulikhunti for execution of the work as per the terms and condition of F-2/LCB/ICB Contracts, as the case may be.
- 12. Documents to be attached:- The following documents should be furnished with the tender papers failing which tender will be liable for rejection. (a) EMD pledged in favour of the Block Development Officer, Tentulikhunti (b) Attested copy of Contractor's valid Registration Certificate issued by competent authority. (c) Attested copy of PAN card. (d) Attested copy of valid Sales Tax clearance certificate. (e) Attested copy of Caste Certificate issued by competent authority in case of SC/ ST contractors, desirous of availing preference on demand. (f) Affidavit as regards the fact of availing award of work without submission of EMD/ ISD during the current financial year in case of engineering contractors desirous of availing exemption of EMD to be furnished from competent authority. (g) Affidavit of validation and authentication of tender documents (h) Cost of Tender Paper.

The authority reserves the right to reject any or all the tenders without assigning any reason thereof.

Block Development Officer, Tentulikhunti.

Memo No.

2450

/2020

Dated

.12.2020

Copy forwarded to the DIO, NIC, Nabarangpur with q request to upload the above Tender Call Notice along with the Tender Schedule for wide publicity.

Block Development. Officer,

Tentulikhunti.

Memo No.

2451

/2020

Dated

.12.2020

Copy submitted to Collector, Nabarangpur for favour of kind information and necessary action.

Block Development Officer,

Tentulikhunti.

Tender Schedule

NAME OF THE WORK:-CONSTRUCTION OF LABOUR ROOM AT PHC PANASPADAR

Estimated Cost

: 31,00,000/-

Amount put to tender :

24,43,250.00

Last Date of Sale of Tender-paper :02/01/2021

E.M.D. required

:01% of Bid Amount.

Last Date of Receipt of Tender-paper: 02/01/2021

Cost of tender paper : Rs.6,000/-

Date of Opening of Tender-paper

Class of Contractor

: 'C' & 'D' Class.

Time for completion :08 (Eight) calender months.

SI.	Description of works	Qnty.	Unit	RATE		
No.	, and a second s		1-01/01/01	Rate.	Amount	
1	2	3	4	5	6	
01	Earth work in excavation in foundation in hard with all leads and lifts including dressing and levelling the bed and depositing the excavated materils away from working area with all labour and T&P, royalty, taxes etc.complete as per the direction of the Engineer-in-charge.	86.700	1.00	184.59	16004.38	
02	Sand filling in Foundation & Plinth etc. all complete.	65.580	One Cum.	345.97	22688.71	
03	Cement Concrete (1:3:6) in foundation and plinth with 40 mm. size hand broken hard granite metal of approved quality from approved quarry including hoisting, laying and placing not exceeding 150mm. thick in each layer of concreting with proper packing & ramming by means of vibrator including curring, dewatering, shoring, shuttering if necessary at the time of laying concrete with cost, conveyance, royalty & taxes of all materials required for the work, T&P and finishing the exposed surface smooth as per specification & direction of the Engineer-incharge., providing grooves & beads where necessary, etc. complete in all respects.	42.460	One Cum.	4490.45	190664.38	
05	R.C.C. work M-20 grade with 20 mm & down graded black h.g. stone chips including hoisting, lowering and laying concrete and compacting in layers not exceeding 15cm. thick in each layer with proper packing and ramming by means of vibrator/rammer, with cost, conveyance, royalty and other taxes of all materials and cost of all labour T&P and other machineries required for the work complete in all respects as directed by the Engineer in charge.	72.005	One Cum.	4998.49	359916.69	
06	Rigid and smooth centering and shuttering for C.C./RCC works and dismantling them after casting including cost of all materials, labour and Tools & plants required for the work as per the specification and direction of the Engineer- in- Charge of the work.					
07	(A) For mass concrete in foundation, base of columns and grade beam	107.144	One Sqm.	103.10	11046.57	
80	(B) For RCC lintel		One Sqm.	272.99	10925.25	
09	(C) For RCC columns & beams	187.727	One Sqm.	728.91	136836.50	
10	(D) For RCC Chajjas & Roof slab	249 267	One Sqm.	430.47	107302.51	

11	Straightening, cutting, bending, binding & welding if equired and tying the grills and placing in proper position of HYSD MS/TS rods as per approved design and drawing for all RCC work including cost, conveyance, taxes of tested MS/TS rods and binding wire of 18 to 20 gauge, all labour and T&P complete for all RCC works as per the direction of Engineer in charge in conformity with approved design of the department etc. complete in all respect	72,005	One Qnti.	7114.71	512295.51
12	Fly Ash brick work of size 23cm x 11cm x 8cm having crushing strength not less than 75 kg/cm² in CM(1:6) in S/S with all leads and royality etc comp.	73.387	One Cum.	4205.22	308608.24
13	20 mm thick grading plaster in cement mortar (1:4) as grading plaster over roof slab including cost, conveyance, taxes, royalty of all materials, all labour, etc. complete.	223.244	One Sqm.	223.13	49811.80
15	12 mm thick cement plaster in cement mortar (1:6) including cost, conveyance, taxes and royalty of all materials, all labour, etc. complete.	175.027	One Sqm.	139.60	24434.20
16	16 mm thick cement plaster in cement mortar (1:6) including cost, conveyance, taxes, royalty of all materials, all labour, etc. complete.	592.318	One Sqm.	198.20	117396.42
17	Fixing tiles in floors or treads of steps and landing on 25 mm thick bed of cement mortar 1:1 joined with neat cement slurry mixed with pigment to match the shades of the tiles including rubbing and polishing complete including including cost, conveyance, royalty, taxes of all materials, all labour, etc complete but excluding cost of tiles	202.324	One Sqm.	636.36	128750.26
18	Cost and conveyance of vitrified tiles coloured/ printed (Homogeneous) including all taxes.	202.324	One Sqm.	523.62	105940.89
22	Painting two coats with weather shield paint of approved quality over a coat of primer including cost, conveyance, taxes of all materials, labour, T & P etc. complete.	592.318	One Sqm.	139.01	82337.13
23	Wall painting two coats with plastic emulsion paint of approved quality & shade over a coat of primer on new work to give an even shade inculding cost, conveyance, taxes of all materials, labour, T & P etc. Complete	175.027	One Sqm.	87.77	15362.74
24	Cost of Enamel Paint	218.780		179.32	39231.63
28	Providing fitting, fixing of Al. door with OEL anodized Al. Door section 9202 as vertical member, 9201 as top member and 9200 as buttom and middle member and 12mm thick pre-laminated board fixed on door frame by means of tapered clip No. 4660 and frame to be completed by means of jointing angle No. 1855 including all cost of labour, T&P, hire charges of drilling machine, labour charges etc. all complete.	724 -	One Sqm.	6340.48	132756.33

.

Supplying, fitting, fixing up window (sliding type) reade up aluminium section 151-154, 151-155, as windows frame section no. 151-155, 151-153, 151-167 as shutter frame with 5mm thick black glass as panel fittied with rubber beading including locking arranement including all fitting cost of materials all taxes labour, T&P etc. all complete as per direction of Engineer-in-charge		
9 N	 Total Or say	2443250.18 2443250.00

Note:

(1) The contractor should not write any thing except quoting of percentage and in case any thing else regarding tender rate is mentioned, the tender is liable for rejection.

(2) Strike out which are not applicable.

APPROVED FOR 29 (TWENTY NINE) ITEMS ONLY

BLOCK DEVELOPMENT OFFICER TENTULIKHUNTI BLOCK.

Brock Development Officer Tentulikhunti